Spring Test 3

3|12+ = 28 é X3=15

5|215— 4= 6| 45
— 22

7 9+-3= 8|26+

66

9 +80 = 100 10 = 2 of 14

U 0
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Spring Test 3 (continued)

1" = 245 + 400 12| /5 — =43
13 =180 + 2 19| 419 + 60 =
15| 47 16| 60
+ 18 — 32
3 _
17| > of12= 18| 50 X = 350
\
Total marks /18
J
HOW We" did YOU dO? + without crossing a ten or a hundred 13568 |N1N]|12]|14
Colour the numbers of the * crossing a fen or a hundred 9 115 [ 16
ques‘rions you got correct 2x, 5x and 10x tables 4 110 )13 |18
’ 3x table 417w
Tables of multiples of 10 13 |18
Fractions of an amount 10 | 17
Missing number statements 1 314189 ]12(18
+ N|1141]15
- 1213|568 9]12]16
X 17
+ 417 110]13]171]18
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